AFiEMA
EHFRLEFAEPACKING LIST

FAF: REEI L

1,EFESH:

ITE: HW2023011300 PSS 2500kg

EB#EEY | THJ 2500/ 0.5- JXVF i U Ea BRN523000+—{A 4,
B/uk 2/2/4 HEA:

HAR | 2300x2200x2200 FIRY: FhPIES © 1600x2100
2,5 555:

Fe| B FEERH RY  |e#%s= &

FIERAE  |IEhIfE, FBSE, EREBSEMRTEREE ]

R WS, KIS, BIPtE, B iPERR AN s

FEtRfE  |EEfR, TR, (J#E, %], HUBEIE, i ]

iE Bk, BNE N =A%

rE  |BERFERYG, BEeSREN, e ]

SR SIER, HZE, B, SHER, B4 s

B51HL | R5IFRAN ]

[JAVGE |V IR, 1842 N

L8 |BIRERN, 1B N

FIR |ENZR, SERREE, SR BIEEE

S LR | ERRIRNAEH BIEEE

CHEREIEES HEAE

SR |[RESAER BN, UE BIEEH

WEE |NER, WEREN, FRFHT, 8BS BRI

RER |EKEEXZE, BIE, BE, BLR BIEEE

WLty | ENLE, B5IINLE N4

MER |XIER B

SEEEEEEE RN RN EE

SHREER| S, YERE G2

RESMHE: 19 (&5

IR TREINF (ERZDBRA—aRBR) , SURME, ITRIER

HilR: Bexd B BeE: [t
ISR BR:
B E8:

B WEAERSEREARENVER. B4 FRFERN, NEERSEZAESATEARRZERIR, FIBAHNER. Mg 88F



Mo R I

7 B

g e HW2023011300 Z/35/1] 2/ 2 / 4
FEmES THJ 2500 / 0.5- JXVF FHEA R 2300 X 2200 X 2200
AR MY UE T L1 FFIIHFRRRT DU 1600X2100
A | 75| iR -4 R 5/ 1 z K B [ 08 | & | A [ SR % &
y K E=2504
! H %}ﬁjjﬁﬁééﬂﬁ: 16#@% ES: LRUR2M, AR bR RS 1 =
2 | H SR FrRAELE, B 170X 370, t=12 2 He REAE R
BB FrdEfE 300%310 2 1 10mm
3 H R e A B I K BE=2420 2 = 2084
4 | 4k RS ®400-6-10-16 B, AEARIT A 4 A | ISR R
5 | 4b URAG 6%, 125 8 A | R R
6 | B i Bt P& K LX 2550 2 e | elE R
(G R B Il 145%180 2 £ | wEERAE
e et e . ’ B BCLD-HC-L11,
8 | H 5 N 2 R PR KPE: 1L=900 2 A LER96x96
10| A R SEAE L K-pE. 1L=2850 B BRI, WATEZ | 2 % | BB AT
11| B SEAERIATH il ©16 HiAf 4 | BB R
12| B8 HrRAE A LS. B e 2364 X 2200 1 1=
M S 0 Fft 1=1182 0 4 AM
13| B T AT 63X 63X 63 B D16 FiAT 4 A E i
o 14 Q %}ﬁ T% l}fﬂ;ﬂ 14#;]%% L=2504 2 1,:}: (%ﬁ%mua}:ﬁﬁ%wwﬁ:
zé 5] B ZE AR 200X 260, t=12 2 He JEARTE
" — 24P A21L=1940X650
6| H LAY = fic L4 2o BFTL=21 1 1 %= 1E20H
17| B BRI A S 4 TR 135X 50 X 50 4 ol R e 3
18 | 4+ & ER i 4 A | AR H
19| H B RLHAT @ 16HEFT 1.=2200 4 % | BARBL3AMELE
20| H iRy TR L= 400 2 S FECUFIE R
21| H TR T AR DB10-3 L=3000 1 % BephiE A
22 | H PP T AR 32 28 BB K. 1=295 2 :
23| H 2 IR 2 S DB10-9 1 %= 7 P Ak
24| H T4 BB L=930 4 % | 26345, FFREITE
25| H FIHLAEAE 0 0 % 0
26 | H Uil A A ficT89-1/B, %3 FL75X75 H102 6% 5 L 4 A
o7 Ah o} 2 I AR 7 EMR s 2 A /N ER
Ak AR J7 REAR Fiats 2 A
QUoTHiE R Aot ey | JUVPELBURE < 4500K6 Lt
28| o ZaH : (lﬁkﬁf%ﬁ—x;ﬁ:%if)ﬁk WK 0. 5m/s , #M: 16 mm ! & 1&24F
29 | 4b AR RN B ih, MRRATK: 2290 1 £ | MfE LR
30 | 4b L RUKSH RSB 1 1| e R E
B EERRL:
31| H J5 M EERR L=0, H=2200 0 14
32| H Ji FHEERR L=0, H=2200 0 4
133 H AT, JEEER L=260, H=2200 4 1
B 34| A ] EE AR L=500, 1=2200 6 | 1. 5mméRAR e
3| H HIEEAR . L=382, H=2100 2 14 (K 11953)
36| H I RERR HRAR R A LI 1=382, H=2100 2 f:
37| H R 1=2364, H=100 2 14
[T 2% 815 2
38| H EP IR L63X63X6 =250 10 1
39| B EPRE L63X63X6 1=200 20 f:
40 | H EE NS L63 X 63X 6 1=1160 20 4 A%
41 | H LS TR W L63X63X6 =150 20 f:
= H N RIS L=185 10 1
l42] A BB S 4 163X 63 X 6 122222 10 I
H RHEFEHS L50X 50 X 5 L=100 0 1
H wHE 150X 50X 5 1=500 0 4
\ - 5K/%, BE: 2 % .
43 | 4b LA SR T89-1/B S/, H 2 & 20 >k




M B K

T 5 &

- R=1 HW2023011300 =/35/17 2/ 2 / 4
S THJ 2500 / 0.5- JXVF BN R 23002200 X 2200
BB ME T L FIIHFRERR T MRS : 1600X2100
A 75 | bR £ W K5/ i Z e S Ko it o4 XA %
o 5K/%, #E: 2 % .
44 | Ab X E 3 T TK5A K/, M. 2 4 20 *
45 | Ak £ FHEEAR T89-1/B 2 4
46 | b Rl S PUEHR TK5A 2 1
47 | 4b FFEULD T89-1/B 70 H
3| 48| 4+ Bl SRR TK5A 66 H
Wofag | s SRR 189-1/B 12 | e
50 | H ESEAUID PRt KB 1=900 2 A | meLD-HC-L11, FLEE96x96
53| H SR T89-1/B €= 0.5mm, 1.2mm 28 4 JEE
54 | H SPHRA TK5A &= 0.5mm, 1.2mm 28 1 J 55
55 [ 4b JETT S & EAA 4 A
56 | [ %of 28 1940 X 2450 1 £ | B HREH
57 | H X H A S 75X 60X 100 2 | BERofExT E A
58 | 4b T E R ®400-6-10-16 Bk, JEpR i A 2 A | FERCAEx B
59 | 4b UGG 16, =15 125 4 A | BeSUERE, 64
60 | 4k RS AR 940X 400 X 80 36 1 | k105, 86kg/fF
%t 61 | 4k Xt 5 13K #ertfE. B=17 4 A I H B
P 62 | H B 9 I AR L= 270 4 1 | JEReAEx) S
63 | H ot B R R4 bt 2 £ | e Ey
64 | H X E R 270 X 340 2 A | SEREXT R
66 | H X E ESR 2100 X 1220 2 f: 5
67 | H o 5 017 L X1220 0 ft R
68 | H X SR S R L= 390 8 %%
69 | H PR KE 647, L=3000 2 %
70 | b L s e LD-HC-L11 2 A
e 71 | 4 ) E e LD-HC-L11 1 A
S bRt 4 1t
72 | H JRYTERE g H=1500 1 o
- WEEE : 0.5 m/s
g 73 | 4k PR 2% XSG608 H Bl PR 5% W% . ®8 mm 1 £ Pl kg
BCHHZ JO 13k B8 2% B 12 i Jie
4] H R AR PRkl L=300, H=80 2 1 s il
7] A BRALIF 235748 [DB10-8 L= 375 4 s |FETBY /B U TEhE
i B
=2 H R R BR 22 2 SR PRt L= 390 4 % BiT89-1/B
76 | H PRI K 2235 % H:1900 0 %
H S K10. 3 FLEE: 110 4 fF
80 BRI 20 Sk b s =650, 168FH4NH 0 %%
81 | 4t EN L 8% 19S+NF-10 Hit: ©10 318 S 53K X 6%
| 82 | 4t [RIg 2 A 22 2 8%19s+PP-8 Hiz: ©8 23 K 234 X 1%
2 | 83 | 4 Lk D8 6 A
4 | 84| 4 4L A ®10 IR 367 | 12 1=
81 S g% il L AR 0 0 £
85 | 4b B 1ENE 1 =
HE. 1250kg  AE: 1m/s
86 | 4 125 .31 L GTHOA ﬁggﬁég ”Jf'li'vlkw | & | wpsmmerion
. ©400-6-10-16
87 | H FEHLL AR B 1] 700X200 1 1 | 208484, AL
g% 88 | H R RTESELR | FEARHIE, 28— 630 X 300 1 | Q235 t164MHR
o 82 H RHEL e E 200 X 250 4 1 | Q235 t104M4
90 | H RHE2 e 130X 290 2 | Q235 t10404R
91 | H BRI R R0 R JERb & 300X 550 4 1 | Q235 t10404K
92| H S igiR JEFRE 130X 174 2 £ Q235 t4377%
93 | H AR () |2 169X 200 2 1 HERE] O
94| H JR 2% S 2 (D JEFRE 169 X 365 2 o BEEEL 2

B2 0 Jt 6t




M B K

T 5 &

KRS HW2023011300 B/¥/17 2/ 2 / 4
rmis THJ 2500 / 0.5- JXVF BrRA RS 2300 X 2200 X 2200
EFP &K MU T L1 FIFAERT DU - 1600X2100
A 75| bR % W Fe 5/ Z K ok | 5% 0% | B0 AR [ S % I
89 | H 7K g K. 3200 288 T M —4, MAL | 2 s Bl 1]
90 | H CH I 22 KE: 3200 208184, HofL 2 G b 1]
91 | H k] TH 14#bFEEN L=700 2 s 14#b 4R
91 [ H ERSAY) JolE 14#bFEEN L=400 2 1 14#b R84
§ 92 | 1 R R Tiit, bRMErE OB, 240 | 1 ] Lo
e Ak RAE CRAD R 2 e ®400-6-10-16 2 o
9 [ 4k Ei G kgt Ebr i A ®400-6-10-16 1 A
97 | H JR4RE () R E PR =479 1 1
98 | H ARk R ED P44 P WWE =469 2 i 4mmfr 25
95 | 4t UG 16%0, 7 125 6 A | FESURRE, s
96 [ 4k AR SR AR BRYY 7 3000+— A4k, 1 =5 11 kw
b ZAFRIN 1 £
4 UCMPHR MCTC-SCB-Al 1 =5 TR
97 | 4k BEATHLZE . BUHLYE HilngE: 9.2 % 1 £ CRCE T
98 | 4k PRIV PN 4 A
99| 4 B2 T 87 2 LR Bt AL 1 £
;Ji 100 | 4k Y LGS/XC-001 2 / 2/ 4 2 = KU
- 101 Ak | FEEshsngs GridBhD LGS/XC-001 1 A
g [102] 4 1l AR LGS/XC-001 3 A
103 | 4k Tk S LGS/XC-001 1 A
104 | 4k JRYTRAE A 1 A
105 [ 4 YL 5 T HE B AT 220V / 40W 2 A
106 | 4k oy e 2 A
107 | 4k HL 4 48 2 A Bekh A
108 | 4b FHL 0[] 7 % L= 1000 /% 2 %
i) FHMNE KPHE, —RER 1 £
109 | 4b ML FEYRAE AR 11 kw 1 A 60A
110 | 4 HLIEAR AT R4 220V / 60W 1 A
111 4b FEEST AC220V 60Wify 4P =& 3 A
112 4h | BEUKS T 5% 1 A
113 4b GARARI K LX29-7/3 0 A
114 | 4k BT IR 220V : LEDKT :816X109 | 2 = vEE bR
ab ST 500%500 0 =
115] 4k JF R LR AC220V#: §DC12V 0 A LEDAT H
116 | 4k FRAZIFIE (1370) 4 A
b RS 1 A
117 | 4 TL7iE 1 £
113 MNEST 0 A
118 | 4b R R 54 % HD/BRB 1 i
119 4b = B s A 40 5 2% BVFRFRARTA : 6 mm? 50 %
120 [ 4b —NPEL 3X0.75 mn? 20 K
121 4 2. bmm“ LR Hh 2k 20 PS
122 4 10mm2 3 43 Hh 25 20 K
123 4 P13 FELAT I 4 R 0 K
124 | 4k A 80X 60X 1. 2 5 %
125 | 4k LAEIERAR 10 f
B [ 126 ] 4 SIEWE K, ©30 8 DS L5
e 127] 4k EERE R, 010 4 pS JFiE
(128 4b W Rk ®30 mm 4 A
29| 4k B ek ®10 mm 8 A
130 4k R D13, B3 6 K| RSIELH
131 4k RN Sk ®13, 90° 10 A
132 4k JeRFLil 200mm 200 %
133 4k AR L @6 mm 108 IA
134 | 4 L eAR 3 5
135 4 FRLRIE (M) 16 A
136 | 4b LH (KO UT10-6 20 A
137 4b ZH UM SV1.25-3.2 40 A

St



Skyfree
对应主回路绝缘铜导线的BV标称截面:
 10mm²= 10mm²黄绿地线
  6mm²=  6mm²黄绿地线
  4mm²=  4mm²黄绿地线
2.5mm²=2.5mm²黄绿地线

Skyfree
对应主回路绝缘铜导线的BV标称截面:
 10mm²=UT10-6
  6mm²=SV5.5-6
  4mm²=SV2-4
2.5mm²=SV2-4



M Rk BB B
KRS HW2023011300 B/¥/17 2/ 2 / 4
Eais THJ 2500 / 0.5- JXVF BrRA RS 2300 X 2200 X 2200
EFP &K M T L1 FITARE R DU - 1600X2100
7S] bR 2 K K5/ RE Z ok | &% 0% | B0 A [ S % IE
138 H Ja TR 292 X 2364 1 1
139| H HH AR TR 500 X 2364 2 i | FFLEDST :816 X 109f7L
T a0 BTl AR A 1 500 X 2364 ] AR
141] H B THAR 292 X 2364 1 4
5 DY Rk -
142| 4 FFIIHL FFITHEI600X2100 |60 117), 96Hlsik., Fogsaeis| 2 &1 B, ony-2024
(A AT 1) s ’
144 H BT R S 1700 X800 2 i
o s TR 9641k K. 12000 0 o T
146 | H B G bRt KJF: 1=480 8 Z3
147 H IR 43 DU 51600 X 2100KK 35 L=425 H=2115 8 BRI 181182
148| H IR S 4R 43D ES: 1600 KJF: 1=2000 2 % | Q235 t4irE
149 4k B NEEE %D 917A61-AC220 2 %= kst
150| 4 ISR JRIVHILIO00X2I00 | = oty opstk . bt | 4 o
TR 2. 0CM-2024
155 H Z1TIR 1. SmmEAAR B8 (K [1953) L=425 H=2115 16 [ BRIT. 1B TR2E
H AR FritEfE 2065 0 ] T HKiE
156 H WESTi 2 1. SmmANAR 5 (FK 111953) B=50 L=1720 4 % 0
H REShVR S 1. SRR 5598 (K F11953) B=50 H=2120 8 s 0
157 REAES 1. SmmAH AR 59 (JK 14 1953) 815 4 %
H RESHREN D) 1. SmmEAAR B (K (41953) B=50 H=2100 0 4 0
H I 1E T &R & 30X 75 0 1
= 158 B ek o 0 1 ELal
e | i BRI bRYELT 80%55 0 "
160 H T 1718 0 4 i
161 | 4k 21 THIIR KB 2510 4 %
162| H TR FESE KJEF: 1=2000 0 £ | W) KiE
163] H [k 1650 X400 0 4] 1TIW) K&
164| H FEEP IR TR 0 K LK%
165 H LB RS 304N 0 % 14K/ %
166 | H T HOE T t0.5, t1.2 48 s JEHEL
167 H RO t0.5, t1.2 48 1 R
168 H 2T HbIR A il £:500 0 A T KELE
169 | 4 SHIm (WD 5 kg
170 | 4 FATI7K 2 kg
171 4 T 1 kg
172 4k WA 3 kg
i) 173 4 VLR IR 1 =
FfF| 174 H B @8 mm, L=1000 0 %1 .
5 TR ZE>20mm, KE200mm, EEER>3mmILE 24 pp | S TTRRR
175 | 4 HUEE! g 2 i
176 | 4b o e 1K © 44 22 4% 2 %
7 2SR T IRRY YR " T
179 4 FMERE HAZ$ 10 9 Kk 0 %
180 | 4h IMEEE S RS EilggKE, L=2210 0 f
181 | Ab |FMEEE G R E e e L=510 0 1 pagi
s | 182 4 DK @842 48 0 %
= N 1
= Z{ MR R R Zﬁn% 8 n
185 | 4b URIED (M12, FLEET2) 0 & ikt
186 | 4k o} B 12 A4 QJLO7#mE e 44 fo g sz SRR 0 £ | XHEHFE: 1976
FAT s e W




R

B E &

~

A PR HW2023011300 B3/ 2 / 2 / 4
FrmAe THJ 2500 / 0.5- JXVF R R~ 2300 X 2200 X 2200
P2 MEWEE T 11 IR K R~ BV - 1600X2100
Eaa lhies [ A K=/ PR Hoe | % 07 [ T [ 54 &%
1| RS S 12k M16X55 BoFa, gl WBRE AlE | 32 = | 8.8 HAM
2 SRS R% B F M16X 50 Bo T3, B 2R} 0 = EE
3 |9 DR, e PR M16X 70 BOXORCF 3, sk, ke | 18 £
4 | MRS . RERTRE R m2FE M8 X 25 AP, spE, iBR) 18 £y
5 | BREGES R AT PR M12X40 [V N N 0 = L2 T2
I R = B2 M8 X80 B PR, T RHEA. BRI R 10 =
7B E 2R M12X90 AP, B, BB} 4 £
8 | UnR AR AR P24 M12X 45 AP, s, BB} 22 =
9 (MRS PR 4 TR M12X 45 il P, B IBR) 6 £
10 [[THL 48 5 fit PEAE M12X 45 Br-pa, spE, A} 6 =
B0 TS AL S48 2R M12X 45 AP, B, Bk} 10 £
12 [TIHLTSL S TP S 4 BERE M12X45 Br-FH, B, IBR) 10 £
13 | RS kE 12 M16 X 55 BooP3h, Bas. Rl 2R | 26 £ | 8.8 kM
14 [ PRI ERE PR M12X 45 BOoT3h, gl Rk, w2RH 14 £
15 | PR S 22 44t T2 EE ML6 X 60 BooPaR, TRl ik, WEHRE 10 £
16 [ AR SRATHE . AT PR M12X40 BooT3h, JpbEs. Rk, wERH 14 £
L7 |3 AT 5P AT B HZRIM16 Bi2 X P, BRE . SXUERE [ 0 E L2 it
18 |Fikr S5 H B2 M16X90 BPH, gk, iR} 6 £
19 EaER P24 M16X 50 BT, Rl TR WERH 16 =
20 A5 H IR FE T2 EE M16 X 50 BooPaR, TRl ik, WERH 14 £y
21 | TIHIR 5 R A R IZEE M8 X 40 BT, Rl g BN 12 £y
22 |H 5 SEAE. TN S H2EE M12X 40 [ N 6 £
23 | BERR SR B2FE M8 X 30 BT, gk WERE, RO 62 £
o[ 24 [BedRIER: I M6 X 20 Bo T3, By, 2R} 130 B ERIEYZ GRED
B | 25 |UBERR SEHGE IZEE M8 X 20 [ N N5 16 £
26 | BERR 5 R THAR B2k M8 X 30 [ N N 62 £
27 [FCRBMEE OKPEZE) ZEBBEERAE M12x120 R, Btk ZR | 114 % T
28 |FLRBME (REdE) FHIEFE M12X280 | SOACPH., FHamE B3R [ 10 5
9 29 |k E: RS M12X45 AP, B, BB} 60 £
ﬁ 30 | FHUERY P24 M12X 45 [ N N 98 = 13K
31 |EFERD BEKE M12X 45 BPE, gpEs, iR 60 = T5K
32 | EPUEER PEAE M12X 45 Br-pa, g, BEA) 36 =
33 BB ERR H2EE MLO X 30 AP, B, IBR) 38 £
34 [XJEYE B 124 M8 X 25 Br-pi, gpsk. R} 10 £
35 |WEMEETE BEHE M8 X 25 AP, gk, iR} 10 z
x| 36 [3FEEEEE P2 M10X 40 BiFH, B, BB} 6 E | RSO HUE”
B[ 37 [ER S E G H2EE MLO X 30 [ N N 32 £
38 |} E G5 AR IZE M8 X 25 Br-FH, B, BB} 10 £
39 [ EP R SR P24 M10X 25 [ N N 26 E
JEST| 40 | AR S5 IRbT ZEISEEERKR M12x120 Wi FEh . #AE . 12} 14 %=
| 41 | RIS 5 R 2 e B2 M8 X 25 Br-pi, gpsk. R} 6 =
Ry 42 | BRIE S [ 5 KR M10 X 80 TR E . B, 2R 0 % A g
43 | BRBR 22 8 5 R 57 48 B24E M10X 25 Br-pa, gpE A} 14 =
j 44 |IRIRZ 28 5 SRR BERE M12X 45 Br pa, s, BEh) 14 = T13K
7 45 | BRI S e H2FE M6 X 20 AL, s, W) 4 £
46 |FRIIR 2R S SRR IEH M12X 45 A P2, gk, 2R 6 £ T13K
47 |95 EYLAE M20 X 110 PSP BB R R | 6 = 8.8 %
By | 48 | EHLER S sy E 124 M8X 25 [N O Y 10 £
2] | 49 |HSIPLERHE R E EEBEERKEE M12x120 RCTRE . PR ERE | 14 % i g
Ml EEIDIN R R M20 X 65 AT B, BR | 22 Fa 8.8 %
50 | EHE S A ER BEAEM16 X 45 BRI, PR WBRE [ 0 = 8.8 %
51 | FhilAE b E JZAKIEHE M10X 80 GRS B [ 6 B3 WA 4
52 |FFiE S JKVEET 4X40 59 53
- 53 |6 ELIF I E B2KE M6X 30 AR, PR, ERE | 10 £
/I\gﬁ 54 | WIS AE 1E R M8 X 25 ARG, B 2R} 6 S
55 |JEIURLIEAR [H 2 [N BE RS M8 X 80 5T, Bk, 128} 6 % A E A 4%
56 |AEERE [ IE R M8 X 80 AL, B 2R} 6 3 WIE A 5%
57 | W2 AR ] ZEEEERRKIE M12x120 GiE-T i, . B | 10 X



Skyfree
Skyfree:
114轨用M16X55


R BRE

B

e S HW2023011300 B/¥/17 2/ 2 / 4
Emis THJ 2500 / 0.5- JXVF R A R 2300 X 2200 X 2200
EF &K M 1T L1 FiTA AR R DU - 1600X2100
e lades s g A F 5/ Z W ok | 5% 0% | B0 FE A [ S % IE
58 [HLp HLIEAR [ 2 JEE KB M8 X 80 ALFEFHE . Bk, W8} 6 Fa Wil A 5%
59 [MERIR A 2 JKIRET 4X40 40 pa
60 [ ZRUKSTFK[H & 7 U8 M5 X 40 FLFEFHE . k. W8} 6 £
gage| 61 |filbRIF <[ 5 S M5 X 40 A5 . saah, HEE) £
FEfF) 62 |f2 i E3h F 23 B F E JEZAK I8 M8 X 80 AFEF . Bk, W8} 52 W %
63 | ML L [E & JZAK B8 A2 M6 X 50 AFEEHRE L, BRE BERE | 27 3 s 5
64 |BL5 etk 2 M6 X 25 42 =
65 | et 7 il A2 MAX 10 62 b
66 |1 TS 2 A flR P2 M10X 25 it P2, gl £
67 [IIMS B 51z % 12K M10 X 30 [ N N S £
BT 68 W I T RS SR 12 M8 X 25 Ao P, B RR) 12 £
69 |I 1B 51T = BZHE M10X 25 [ R L 0 £
70 [F IS SR I M8X 25 Fo-PH . B 18R 12 £
71 |I1ER JEZAK BB AEM10 X 80 AFEFERE ., BB, B | 28 1=
72 BTS2 T3k MR ML0X 30 A HE . s, IR | 28 S
73 |2 1750k Sk B2 FE M10X 30 T, s 20 £
74 |1 1ER B2k M8 X35 B P, g WA 22 £
EIT| 75 | Mok B2KE M8 X 25 ALFEFHE . HE 42 £
76 [MuIRITLI A BB M12x120 ALFEF . Bk, W8} 0 £ T4k
77 (1R S 12 M10 X 30 5T sadk, WEE) 0 £ W
. s H g2z M5.5X 19 44 1=
78 [FEYR e dE LI FNS X 100 ” =
79 |BhE R R Ay 4[5 S B 22 M6 X 25 FETFE 85 16 £
80 |1 b 51 b 2o gf;;ﬁ;f(a ChiRE N - E ]
81§ RS2 1 T HIIKIT SR 228 PUSkIEHE M5X 15 R THE ., s 36 £ ZI
82 [HBIAR SR T KIS 2% PUkIEM M8 X 15 HE T e 14 E= i
o B R 550 B e BERE M16X 60 BT, FRIER. B, ERH 0 £
A e R v B2HE M6 X 35 ARG, BRE IREE | 78 £
ISR IR 124 M5X 50 FFGTHE ., e, R | 24 =
6 e m




